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EQUATIONS AND THEIR APPLICATIONS

1. If 3z + 20 = 65, then find the value of x

° Watch Video Solution

2.1f 5x — 8 = 3z + 22, then find the value of x

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_LI0JARpdq4su
https://dl.doubtnut.com/l/_rckLK4Hx6Tws

m— 3 m — 2
3.Solve for m: 5 + 3 = —13

o Watch Video Solution

4. The sum of the digits of a two-digit number is 9. If 27 is
subtracted from the number, then the digits interchange their

places. Find the number

° Watch Video Solution

5. Ram and Rahim have Rs 60,000 together. If Ram has Rs 8000

more than Rahim, then find how much money Ram has

o Watch Video Solution



https://dl.doubtnut.com/l/_rckLK4Hx6Tws
https://dl.doubtnut.com/l/_3WVN5nfGure0
https://dl.doubtnut.com/l/_PSsi5fguZS9W
https://dl.doubtnut.com/l/_G7dUrZhwSEQU
https://dl.doubtnut.com/l/_DXbcVm3F8Onk

6. Sixteen years hence, a man's age will be 9 times his age 16

years ago. Find his age 5 years hence

o Watch Video Solution

7.1n a bag, there are 50 paise coins, Rs 1 coins, and Rs 2 coins.

The total value of these coins is Rs 30. The number of Rs 2 coins

is half the number of Rs 1 coins, which is half the number of 50

paise coins. Find the number of Rs 1coins.

A. 20

B. 16

C.15

D.10

Answer: D



https://dl.doubtnut.com/l/_DXbcVm3F8Onk
https://dl.doubtnut.com/l/_cBYnnIzKgJG2
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8. The cost of three chairs and four tables is Rs 28,00. If the cost

of each chair is Rs 600, then find the cost of each table (in Rs)

° Watch Video Solution

9. Solve the following inequations:
@z+5<T7xzcR
(bydz —3 > 17,z € Z

03z —-2<1l,x e N

° Watch Video Solution

18 — 2 4
10. Solve: 3 m + m 3 > %

8
7 7

o Watch Video Solution



https://dl.doubtnut.com/l/_cBYnnIzKgJG2
https://dl.doubtnut.com/l/_dtX6IPsaiUQu
https://dl.doubtnut.com/l/_rWKbs9SFjkuo
https://dl.doubtnut.com/l/_atENr9mxSjRH

11. Represent the following inequations on number line

@d)x <3
b)y> —1
(c)z< —4

° Watch Video Solution

12.If 3x + 20 = 65, then find the value of x

° Watch Video Solution

13.1f bz — 8 = 3x + 22, then find the value of x

o Watch Video Solution



https://dl.doubtnut.com/l/_atENr9mxSjRH
https://dl.doubtnut.com/l/_ioCg9sFORqEo
https://dl.doubtnut.com/l/_PBxxuNnCj27v
https://dl.doubtnut.com/l/_K0tnur7Vp7wE
https://dl.doubtnut.com/l/_jv09SPTQ7Lmc

m— 3 m — 2
14. Solve for m: 5 + 3 = —13

o Watch Video Solution

15. The sum of the digits of a two-digit number is 9. If 27 is
subtracted from the number, then the digits interchange their

places. Find the number

° Watch Video Solution

16. Ram and Rahim have Rs 60,000 together. If Ram has Rs 8000

more than Rahim, then find how much money Ram has

o Watch Video Solution



https://dl.doubtnut.com/l/_jv09SPTQ7Lmc
https://dl.doubtnut.com/l/_a9fuSfpRHRVS
https://dl.doubtnut.com/l/_NGD2iMrE0hXr

17. Sixteen years hence, a man's age will be 9 times his age 16

years ago. Find his age 5 years hence

o Watch Video Solution

18. In a bag, there are 50 paise coins, Rs 1 coins, and Rs 2 coins.
The total value of these coins is Rs 30. The number of Rs 2 coins
is half the number of Rs 1 coins, which is half the number of 50

paise coins. Find thenumber of Rs1 coins

O Watch Video Solution

19. The cost of three chairs and four tables is Rs 28,00. If the cost

of each chair is Rs 600, then find the cost of each table (in Rs)

o Watch Video Solution



https://dl.doubtnut.com/l/_yptuzVnmhkGC
https://dl.doubtnut.com/l/_p2VST7Lc5uXb
https://dl.doubtnut.com/l/_BbgpxmZ2n6fJ

20. Solve the following inequations:
@z+b<T7 xR
(b)dx =3 > 17,z € Z

3z —-2<1,x €N

O Watch Video Solution

21. Solve the following inequations:
(@z+5<T7x€R
(b)dx —3 > 17,2 € Z

3z —-2<1l,zeN

o Watch Video Solution



https://dl.doubtnut.com/l/_BbgpxmZ2n6fJ
https://dl.doubtnut.com/l/_WzzRx0xRYFtP
https://dl.doubtnut.com/l/_xzwSuNJ2I7T1

22.Solve the inequation:

3r —22< 2,z e N

o Watch Video Solution

18 — 2 4
23. Solve: m + m + 3 > %

+8
5 7 7

° Watch Video Solution

24, Represent the following inequations on number line

(a)x <3
b)y> —1
(z< —4

o Watch Video Solution



https://dl.doubtnut.com/l/_2s335ZMUcOm8
https://dl.doubtnut.com/l/_0OnijeSIRNMU
https://dl.doubtnut.com/l/_CinPF2kfSazF
https://dl.doubtnut.com/l/_W9epHozTWwzN

25. Represent the following inequations on number line

d)x <3
b)y> —1
(c)z< —4

° Watch Video Solution

26. Represent the following inequations on number line

@z <3
b)y> -1
(z< —4

o Watch Video Solution

Very Short Answer Type Question


https://dl.doubtnut.com/l/_W9epHozTWwzN
https://dl.doubtnut.com/l/_D23akw0gulLP

1. An open sentence containing the sign is equal to is called an

equation

° Watch Video Solution

2x + 3
4

2.The root of the equation =z +8 is 7

° Watch Video Solution

: .4 : :
3. For the inequation 3%~ 2 < 0,z = 2is asolution.

o Watch Video Solution

4. 3p—15>p+25p=20 is a solution of the

inequation

given



https://dl.doubtnut.com/l/_Wcj2GNbX8CkC
https://dl.doubtnut.com/l/_zyoDzAuWJoIQ
https://dl.doubtnut.com/l/_gG5Q9ooM0zHV
https://dl.doubtnut.com/l/_VbaX1J0vtwko

| o Watch Video Solution

5.1f 68 is divided into two parts such that one part is one-third of

the other, then the smallest part is 17.

° Watch Video Solution

6. If the number of variables present in the equationis __, then

it is called a simple equation

° Watch Video Solution

7.1f 5m + 18 = §,then m =

o Watch Video Solution



https://dl.doubtnut.com/l/_VbaX1J0vtwko
https://dl.doubtnut.com/l/_AqPFoNn4aT8u
https://dl.doubtnut.com/l/_AWmP9TSYMeFi
https://dl.doubtnut.com/l/_mOMvGAWVw2kx
https://dl.doubtnut.com/l/_G8jCYbUGUXiI

8.1z — 5 then % 4 L —
. IT L = 9, enE E— ______

o Watch Video Solution

9.The root of the equation 0.8z + 9 = 17 is

° Watch Video Solution

10. In a two-digit number if, p is the ten's digit and q is the units

digit, then the two-digit number is

o Watch Video Solution

11. If one-third of a number x is substracted from two-third of the

number x, then the result is 6. Then x =

| o WAL _ L vl e~


https://dl.doubtnut.com/l/_G8jCYbUGUXiI
https://dl.doubtnut.com/l/_u022AZS5jO0A
https://dl.doubtnut.com/l/_OapjGKxLCiln
https://dl.doubtnut.com/l/_KrtwaeFHUGFT
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12.1F0.2y + 10.2 > 11, then y >

o Watch Video Solution

13.|f% — 3 — 6,then x =

° Watch Video Solution

) 3x T .
14. The solution of e + 1 <4is____

o Watch Video Solution

15. If% > 25,then x =

| o WMilabkdl. .\t daa ALkt aa


https://dl.doubtnut.com/l/_KrtwaeFHUGFT
https://dl.doubtnut.com/l/_9hjz8mhsb0vU
https://dl.doubtnut.com/l/_ClOqLQ7wDdVI
https://dl.doubtnut.com/l/_EUoqpZVe9FHE
https://dl.doubtnut.com/l/_BVFqttpWoYRl
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16.1f 2z — 3 = 13,then x =

o Watch Video Solution

1
17.If —|—3§ = b,then x=

° Watch Video Solution

18.|f% —9=1thenx-=

o Watch Video Solution

19.If% + 1= 3,thenx=

| o Wiakr~h \NAaA Caliikian


https://dl.doubtnut.com/l/_BVFqttpWoYRl
https://dl.doubtnut.com/l/_qgV3mNRNcj14
https://dl.doubtnut.com/l/_EmGF8PgZ2aPG
https://dl.doubtnut.com/l/_s41oKGRoWFo9
https://dl.doubtnut.com/l/_FEhG1ilgaYQQ
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2z
20. Solve for z: = +6=2—3

A 12

cn

D.10

Answer: B

° Watch Video Solution

21.Solve for m: 3(4m + 5) — 4(3 — 2m) = 13

A1/2

B.2


https://dl.doubtnut.com/l/_FEhG1ilgaYQQ
https://dl.doubtnut.com/l/_Kb1Ho84RG6DZ
https://dl.doubtnut.com/l/_QwEtShzgzaG0

c.1/4

D.1

Answer: A

o Watch Video Solution

22.Solveforz:3xz +5 > 7

Az >3/2
B.x >2/3
C.z <3/2

D.z <2/3

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_QwEtShzgzaG0
https://dl.doubtnut.com/l/_S3x1tVP1d3sz

4y
23. Solve for y: 3 5 <10

Ay <27/24
B.t < 33/4
C.y<45/4

D.y < 59/4

Answer: C

° Watch Video Solution

24. Solve for z: % —7>z-19


https://dl.doubtnut.com/l/_S3x1tVP1d3sz
https://dl.doubtnut.com/l/_8sqTDFfmtDrk
https://dl.doubtnut.com/l/_cWMzkwAI4RnJ

Answer: C

o Watch Video Solution

25.Solveforz:2z +3 =9

A4

B.3

C.2

D.1

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_cWMzkwAI4RnJ
https://dl.doubtnut.com/l/_LFX8cfnI7IXT

26. Solve for y: % —-7= -4

A.15
B. 12
C.6

D.9

Answer: D

o Watch Video Solution

27.Solveforx:12x — 7 = 7Tz — 13

A —1.2

B.—1.6


https://dl.doubtnut.com/l/_LFX8cfnI7IXT
https://dl.doubtnut.com/l/_EVc58g7kiGeS
https://dl.doubtnut.com/l/_zw7lDWJmmGDP

C.—1.8

D.—14

Answer: A

o Watch Video Solution

28.Solveform:1.2m + 2.6 = 5

A4

B.3

C.2

D.1

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_zw7lDWJmmGDP
https://dl.doubtnut.com/l/_1RHDzwd7VwXo

Short Answer Type Questions

1. Divide Rs 98 into two such that one part of 6 times to the

other part

° Watch Video Solution

1
2. One-third of a number is equal to 24, then find the value of 15

times of the number

o Watch Video Solution

3. The sum of three consectuve integers is 24. Find the smallest

number

| ° WAL _ L vl e~


https://dl.doubtnut.com/l/_1RHDzwd7VwXo
https://dl.doubtnut.com/l/_PwynK7nendGz
https://dl.doubtnut.com/l/_RQ8vp0uVOkqS
https://dl.doubtnut.com/l/_28nQMZtCtG6S
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T x T
4.5lve, — + — + = =11
ove,3—|—6+9

° Watch Video Solution

5.Solve: 0.5y + 0.75y = 125

° Watch Video Solution

6.Solve: 2.5t + 7.3t = 21.6 — ¢t

o Watch Video Solution

7. Equal parts of a flag pole are painted with saffron, white, and

green colours. If one-third of the portion painted green is 2 m


https://dl.doubtnut.com/l/_28nQMZtCtG6S
https://dl.doubtnut.com/l/_zwzJaC06x2e2
https://dl.doubtnut.com/l/_UEde4XrU9tM2
https://dl.doubtnut.com/l/_05uknqSZ8Koi
https://dl.doubtnut.com/l/_JTogy1S7SxGg

long, then find the length of the pole

° Watch Video Solution

8. A person covered 5 /8 of his journey and he has to walk 240 m
more to complete his journey. Find the total distance of the

journey

o Watch Video Solution

9. A boy has given 7 /12 of his marbles to his friend and is left
with only 20 marbles. Find how many marbles he had with him

initially

0 Watch Video Solution



https://dl.doubtnut.com/l/_JTogy1S7SxGg
https://dl.doubtnut.com/l/_8Q4j8CUftAza
https://dl.doubtnut.com/l/_2Iu2cm1dUWiy

10. A number is multiplied by 5 and 25 is subtracted from the
product. The result is equal to four times the number itself. Find

the number

o Watch Video Solution

11. One-fouth of a certain number exceeds its one-seventh by 3.

find the number

° Watch Video Solution

bz —2 4z +3  3z+19

12.Solve :
olve: —z—+ —3 2

o Watch Video Solution



https://dl.doubtnut.com/l/_iTVzXOVX8Gcl
https://dl.doubtnut.com/l/_lLXiw3sNKTE5
https://dl.doubtnut.com/l/_UGYFtROIHe3b

13.Solve : 0.3(3y — 4.5) + 2.9(5.5 — 5y) = 1

o Watch Video Solution

I9m + 4 2Tm + 1 1
14. I . — —_ — =
Solve 3 3 5 0

° Watch Video Solution

15.5olve:2m +5 > 9 —4m,m € Q

° Watch Video Solution

o Watch Video Solution



https://dl.doubtnut.com/l/_2SYmuGdLngwv
https://dl.doubtnut.com/l/_OuPZ10ldqhIJ
https://dl.doubtnut.com/l/_eDxNKDISElJJ
https://dl.doubtnut.com/l/_hL3Pi6mhj8fQ
https://dl.doubtnut.com/l/_wuzgddQivmf5

+ 2 +3
17. Solve : y3 + yz =y+1

° Watch Video Solution

2n + 3 B

=1
6n — 5

18. Solve :

o Watch Video Solution

19.Solve: 2(k + 3) + 3(k — 4) = 24

o Watch Video Solution

20. One-fifth of a number is 5 more than one-tenth of the

number. Find the number

° Watch Video Solution



https://dl.doubtnut.com/l/_wuzgddQivmf5
https://dl.doubtnut.com/l/_D0iMdzVjBkOo
https://dl.doubtnut.com/l/_NjBCWyo27PJB
https://dl.doubtnut.com/l/_5q4jYUssu6PT

21. Twice a number is added to half the number, and result is 250.

Find one-tenth of the number

o Watch Video Solution

22.Solve for x, 8¢ + 4 < 20 in the set of natural numbers

o Watch Video Solution

Essay Type Question

1. Five years ago, the age of a person was half of his present age.

How old is he now ?

o Watch Video Solution



https://dl.doubtnut.com/l/_5q4jYUssu6PT
https://dl.doubtnut.com/l/_nZbvkSwcODdw
https://dl.doubtnut.com/l/_4bzjcB0qtX2S
https://dl.doubtnut.com/l/_rOd7oi2TAIPv

2. The present age of A is twice that of B. The sum of their

present ages is 33 years. Find the present age of A (in years)

° Watch Video Solution

3. In a two-digit number, the units digit is twice the ten's digit
and the difference between the number and the number formed

by reversing the digits is 18. Find the original number

° Watch Video Solution

4. Thirty years ago, the age of a man was three-fifth of his

present age. Find the present age (in years)

o Watch Video Solution



https://dl.doubtnut.com/l/_rOd7oi2TAIPv
https://dl.doubtnut.com/l/_0WTOW0GkL8BI
https://dl.doubtnut.com/l/_5V6HLEFy7sGB
https://dl.doubtnut.com/l/_8SeiCxu1VNrO

5.The present age of Shobha is equal to one-fifth of her mother
Sudha's age. Twenty -five years later, the age of Shobha will be 4
years less than half the age of her mother Sudha. Find their

present ages.

° Watch Video Solution

6.1n a two-digit number, the ten digit is one more than twice the
units digit. The sum of the digits is 36 less than the number

formed by reversing the digits. Find the product of the digits

o Watch Video Solution

7. A man's age 15 years hence would be two times his age six

years ago. Find his present age

. Y


https://dl.doubtnut.com/l/_zLSkyPAoJEIg
https://dl.doubtnut.com/l/_o2aP2OdeNgO5
https://dl.doubtnut.com/l/_xpN9S3UreBMl
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8.1n a two-digit number, the sum of the digit is 5 more than the
units digit. The difference between the original number and the
sum of digits is 10 more than the number formed by reversing

the digits. Then find the difference between the digits.

O Watch Video Solution

t

4 5 3
9.So|ve:?—§< Z+§’t€Q

o Watch Video Solution

6
10.Solve: 8a — 7 < ?a—|—27,a€Q

o Watch Video Solution



https://dl.doubtnut.com/l/_xpN9S3UreBMl
https://dl.doubtnut.com/l/_uUvI8JXvknoC
https://dl.doubtnut.com/l/_E1Luc9azkjHS
https://dl.doubtnut.com/l/_RaC4Ek3zxuSM

14y

20y 83
11. Solve : T +

— —,wherey € Z

< 7
- 3 4

| w

0 Watch Video Solution

12.Solve: 22 — 5 > 4x — 3

o Watch Video Solution

13. In a two-digit number, the sum of the digits is 9. If 9 is
subtracted from the number, then the digits get reversed. Find

the product of the digits

o Watch Video Solution



https://dl.doubtnut.com/l/_jd1adNkRZiiH
https://dl.doubtnut.com/l/_QnUn4nVUg1mY
https://dl.doubtnut.com/l/_Ck5Mp5hUfOcU

14. A purse contains a certain number of coins of denominations
Rs 1 and 25 paise. The total value of the coins (in Rs) is 6 less
than the total number of coins. Find the number of 25 paise

coins

° Watch Video Solution

15. Rs x is divided among Mr Bilhari, Mr Narahari, and Mr
Murahari. The share of Bilhari is one-fourth of the total money,
the share of Murahari is one-third of the remaining money and

the share of Narahari is Rs 1200. Find x

o Watch Video Solution



https://dl.doubtnut.com/l/_ZB8de38qalul
https://dl.doubtnut.com/l/_Y6EU45oUxBQY
https://dl.doubtnut.com/l/_hNEhRSon5bzl

3
1. The root of the equation e +5=28is

A5
B.4
C.2

D.1

Answer: B

o Watch Video Solution

2. Which of the following is the solution of the equation

5p—10=5?

Ap=>5

B.p=4


https://dl.doubtnut.com/l/_hNEhRSon5bzl
https://dl.doubtnut.com/l/_dBCuSCYxuUHn

Cp=

Answer: D

o Watch Video Solution

r
3.If§ + 3= 5, thenx=__

A2
B.3
C.4

D.6

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_dBCuSCYxuUHn
https://dl.doubtnut.com/l/_VQPbngmNpw5N

4.1f z = 10, then 0.2z + 0.2 = _

A 12.2

B.10.2

C.2.2

D. 22

Answer: C

o Watch Video Solution

0.2
5. |f7 -+ 0.1 Z 2.1,then i S

Al

B.0.1


https://dl.doubtnut.com/l/_VQPbngmNpw5N
https://dl.doubtnut.com/l/_sowgMNHAJ14V
https://dl.doubtnut.com/l/_I1SpsxYYaeb5

C.2

D.0.2

Answer: B

o Watch Video Solution

6.0F % & = — & 5 thenx-
15 2—:(: ,then x =

A2
B.4
C.8

D.6

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_I1SpsxYYaeb5
https://dl.doubtnut.com/l/_Alq1RXIWBs67

7.f 1.7y + 2.3y = 2,theny=

Al/4
B.1/2
C.8

D.6

Answer: B

o Watch Video Solution

g.1f5( % 1+ 1) = 52— 10, then x =
. g 5 = 9L ’ enX—____

A3

B.1/3


https://dl.doubtnut.com/l/_Alq1RXIWBs67
https://dl.doubtnut.com/l/_KYmADAYfXcD7
https://dl.doubtnut.com/l/_yDZ9xR7p2zPx

C.6

D.1/6

Answer: A

o Watch Video Solution

1 3 11
9.If — + — = —,thenx =
T T 3

A11/3
B.2/3
c.12/11

D.3/11

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_yDZ9xR7p2zPx
https://dl.doubtnut.com/l/_bwMY9pEsKKha

10.1f 9.1z + 3z + 1.92 < 42, thexz <

Al
B.3
C.5

D.4

Answer: B

o Watch Video Solution

M.If 5z + 1.5(0.5z 4+ 10) > 590, then z >

A.15

B. 100


https://dl.doubtnut.com/l/_bwMY9pEsKKha
https://dl.doubtnut.com/l/_uvwtUE5i0Oh1
https://dl.doubtnut.com/l/_c67OM3kaBIqq

C.150

D. 200

Answer: B

o Watch Video Solution

12.1f 8.3x — 9.8 = = + 26.7,then x =

A2

B.3

C.4

D.5

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_c67OM3kaBIqq
https://dl.doubtnut.com/l/_F3bzspaZvP7x

1B.1f3(a —2) —2(a+9) = 1, thena=

A. 20

B. 22

C.25

D. 27

Answer: C

o Watch Video Solution

14.1f 2(p — 5) = g + 5,then p =

A.8

B.9



https://dl.doubtnut.com/l/_F3bzspaZvP7x
https://dl.doubtnut.com/l/_9MDjLQo4zfmw
https://dl.doubtnut.com/l/_aS8rhyJMfiUp

C.10

Answer: C

o Watch Video Solution

15.Solve fora:3a —4 = — 16

D.4

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_aS8rhyJMfiUp
https://dl.doubtnut.com/l/_ivEC5vlG7jMr

16. Solve for b: g —5=7

A.30
B. 60
C.90

D.120

Answer: B

o Watch Video Solution

17.Solveforxz:5x — 6 = 8¢ — 4

A—1/3

B.—2/3


https://dl.doubtnut.com/l/_ivEC5vlG7jMr
https://dl.doubtnut.com/l/_RdBMOyFppIr2
https://dl.doubtnut.com/l/_cffjnUWIBSmF

C.1/3

D.2/3

Answer: B

o Watch Video Solution

18.Solve for k: 1.5k — 3.7 = 0.8

A7

B.6

C.5

D.3

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_cffjnUWIBSmF
https://dl.doubtnut.com/l/_X8ksKg4QnEuV

3:13—|—4_:E+5_a: x+1

19. Solve : 11 —2—8—|- 14

The following steps are involved in solving the above problem.

Arrange them in sequential order

T+ 2
= 10z + 6 = 3z + 2

3
(A) dx + 3 =

B) =Tx= —14

3a:+4_ r+5 @ x +:U-|-1
14 ~ 928 14

6x +8 —x —5 B T+ 2x + 2

14 N 28

(D) == —

(C) Given

|

A. ABCD

B. CADB

C.CABD

D. BCAD

Answer: C

| |


https://dl.doubtnut.com/l/_X8ksKg4QnEuV
https://dl.doubtnut.com/l/_FxhjxwWVqpPb

[ W Watch Video Solution ]

20. Two-third of a certain number exceeds one-third of the
number by 10. Find the number. The following steps are involved

in solving the above problem. Arange them in sequential order

@ ZE . _ 10 (given)

3 5 = 10 (given

A TN T
3 3

(C) =z =30

(D) Let the number be x

A. DACB

B. BDAC

C. ADBC

D. DABC

Answer: D



https://dl.doubtnut.com/l/_FxhjxwWVqpPb
https://dl.doubtnut.com/l/_prpzpK6b64wj

| ¥ Vvatcn video o>olution ]

Tr + 3 9:1:—5_16x—3

21.Solve : 1 + 3 16

The following steps are involved in solving the above problem.

Arrange them in sequential order

-5 -1

Wz =35 =

(B)
T + 3 9w—5_16w—3j14x+6+9:c—5_16:13—3

1 T8 16 3 16

o+l _6e-3 0 1603
8 16 TTIT T

(D) 46z + 2 =16x —3 = 30x = — 5

A. BCDA

B. CBDA

C.BCAD

D. BDCA

Answer: A


https://dl.doubtnut.com/l/_prpzpK6b64wj
https://dl.doubtnut.com/l/_V3pt5CsV5JJT

0 Watch Video Solution

22. One-third of a certain number exceeds %th fo the number by
20. Find the number.

The following steps are involved in solving the above problem.
Arrange them in sequential order

(A) Let the number x

2z T
B)— =20 —=—=10= 2 = 90

9 9

T T
C) Given — — = = 2
(C) Given 3 9 0
) 3r —x _ 90
5 —

A. ADCB

B. ACDB

C. DACB

D. CADB


https://dl.doubtnut.com/l/_V3pt5CsV5JJT
https://dl.doubtnut.com/l/_wKXv92YNtk9V

Answer: B

° Watch Video Solution

23. Match the following Column A to Column B

Column A

17

The root of the equation

ijr—x+9=2x—-3is____.

5

4
The solution set of —Yé + g <

215
If69 1s divided into two

parts such ¢hat one part 1
rwice the other, then the

greater part 15 _

If—g—x+20=71, then x=

Column B

36
< —
@ y<—

(b) 9

36

() v> 3

(d) 10

(e) 46
() 23

0 Watch Video Solution



https://dl.doubtnut.com/l/_wKXv92YNtk9V
https://dl.doubtnut.com/l/_lN6KvIOPJdsF

24. Match the following Column A to Column B

Column A Column B

Iflz§y+1o=—5,cheny=_. @ x>5

The root of the equation %x +2=14+3xis __. () 64
The solution set % +4>50fis___. (€ 2
I£96 is divided into two parts such that one part is (d) 2
twice the other, then the greater partis __.
(e) 24
(f) x<5

° Watch Video Solution

N LR LA
. - 5 = 2,thenx=__

A.2//3

B.3/4


https://dl.doubtnut.com/l/_lN6KvIOPJdsF
https://dl.doubtnut.com/l/_mWiM1Id4QSvn
https://dl.doubtnut.com/l/_wbQXniX95Bl5

C.5/4

D.4/3

Answer: D

o Watch Video Solution

1
2.1f 3y + 15 + 6(4 — by) = 12,theny=

A.1/6
B. 11
C.1/2

D.7

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_wbQXniX95Bl5
https://dl.doubtnut.com/l/_LcYNCSXWczzp

5 4(z—-11
3.Ifz—|7r + (zg )+3:0,thenz= ______

A1l

B.2

D.5

Answer: B

° Watch Video Solution

0.3(3z —4) 0.4z + 3.6

4.If + = 3.5z thenx=__

5 2

A 0.1

B.0.3


https://dl.doubtnut.com/l/_LcYNCSXWczzp
https://dl.doubtnut.com/l/_tqmht02D8Oxh
https://dl.doubtnut.com/l/_a6E5IoBHj0fe

C.0.5

D.0.2

Answer: C

o Watch Video Solution

t+13

5.1If 15

2t — 1 _
+ 7 z = 6, then the value of t is

A2
B.3

C.1

Answer: a

° Watch Video Solution



https://dl.doubtnut.com/l/_a6E5IoBHj0fe
https://dl.doubtnut.com/l/_fE2N4ekYPGtC

6. Two-third of a number exceeds one-third of the number by 10.
Find the number

A.10

B. 20

C.30

D. 40

Answer: ¢

o Watch Video Solution

7. A number is doubled and half of the number is added to it. If
10 is substracted from the result, then we get a number which is

one less than the original number. Find the original number


https://dl.doubtnut.com/l/_fE2N4ekYPGtC
https://dl.doubtnut.com/l/_PgrJO37GG8mT
https://dl.doubtnut.com/l/_VF28bw5RL8bv

A5

B.6

C.7

D.8

Answer: b

o Watch Video Solution

8. If a number is multiplied by 5 and 5 is added to it, then the

result is equal to 50. Find the number

A.9

B.8

C.7

D.6


https://dl.doubtnut.com/l/_VF28bw5RL8bv
https://dl.doubtnut.com/l/_JwoHeNRdhmk7

Answer: a

° Watch Video Solution

9. If seven times a number is added to one-fifth of itself, then five-

sixth of the sum is equal to 30. Find the number

A5

B.6

C.15

D.10

Answer: a

O Watch Video Solution



https://dl.doubtnut.com/l/_JwoHeNRdhmk7
https://dl.doubtnut.com/l/_JBdHfc26jzyQ

10. If one-fouth, half, and one-third of a number are added to the

number itself, then the result is equal to 25. Find the number

A.10

C.12

D.14

Answer: c

° Watch Video Solution

T x
11. Solve f = — =12
olve tor x 5+7

A.70

B. 140


https://dl.doubtnut.com/l/_nSMfYNTFLD5V
https://dl.doubtnut.com/l/_rpuX7fqSmiEP

C.35

D. 105

Answer: c

o Watch Video Solution

3z — 2 B 1

bx +7 12

12. Solve for x:

B.3

C.1

Answer: c

° Watch Video Solution



https://dl.doubtnut.com/l/_rpuX7fqSmiEP
https://dl.doubtnut.com/l/_B0lgfomseCjf

13.Solve fory: 3(y — 4) — 5(y +5) = — 21

A —4
B.—7
C.—3
D.—8
Answer: d

o Watch Video Solution

14. Two-third of a number is 32 less than three-fiftth of the

number. Find the number

A. 360


https://dl.doubtnut.com/l/_B0lgfomseCjf
https://dl.doubtnut.com/l/_QeqMbPup90HS
https://dl.doubtnut.com/l/_YziGrjtA033I

B. —480

C. —360

D. 480

Answer: b

o Watch Video Solution

15. If one third ofa number is subtracted from three times the

number, then the result is 800, find the number.

A.300

B. 400

C. 200

D. 600


https://dl.doubtnut.com/l/_YziGrjtA033I
https://dl.doubtnut.com/l/_6XRUr3qshF5a

Answer: a

° Watch Video Solution

16.Solve for t, 3t — 8 < — t in the set of whole numbers

A0, 1,2

B.1,2,3

c.0,1,2,3

D.1,2,3,4

Answer: a

° Watch Video Solution



https://dl.doubtnut.com/l/_6XRUr3qshF5a
https://dl.doubtnut.com/l/_VyGkfr3GSnmA

17.1n a two-digit number, the tens digit is twice the units digit. If

the sum of its digits is 9. Find the number

A.63

B. 82

C.72

D. 36

Answer: a

° Watch Video Solution

1. The present age of a man is seven times the present age of his

son. Two years ago, the age of the man was elevent times the


https://dl.doubtnut.com/l/_1EqCCazGKwp7
https://dl.doubtnut.com/l/_aUoqvsTMpArV

age of the son. Find the present age of the man (in years)

A.35

B. 26

C. 47

D. 45

Answer: a

o Watch Video Solution

2.Th present age of A is thrice that of B. Five years from now, A's
age will be 8 years more than twice B's age. Find the present age
of B (in years)

A.10

B.13


https://dl.doubtnut.com/l/_aUoqvsTMpArV
https://dl.doubtnut.com/l/_3yl4DLMVn6jK

C.12

Answer: b

o Watch Video Solution

3. The sum of the present ages of Ram and Shyam is 75 years. Ten

years ago, Ram's age was 4 times the age of Shyam. Find the

difference between their present ages (in years)

A. 22

B. 23

C.33

D.30


https://dl.doubtnut.com/l/_3yl4DLMVn6jK
https://dl.doubtnut.com/l/_QEisvpaGgnwz

Answer: c

° Watch Video Solution

4. A road divider of certain length is painted one-sixth yellow,

three-fifth black, and the remaining 28m is painted white. Find

the length of the divider

A.100 m

B.120 m

C.150 m

D.92 m

Answer: b

° Watch Video Solution



https://dl.doubtnut.com/l/_QEisvpaGgnwz
https://dl.doubtnut.com/l/_ulOIY0HGjw3u
https://dl.doubtnut.com/l/_nrh6KzlRURgj

5. Mr Sumanth spends two-fifth of his salary on house rent and
one-fouth on food. After spending Rs 2000 on miscellaneous, if
he could save an amount of Rs 5000, then find his monthly
income (in Rs)

A. 20000

B. 25000

C. 15000

D. 16000

Answer: a

o Watch Video Solution

6. In a two-digit number, the units digit is 3 more than the ten's

digit. The sum of the digits is 18 less than the original number.


https://dl.doubtnut.com/l/_nrh6KzlRURgj
https://dl.doubtnut.com/l/_c7qYxJnBJlKe

Find the product of the digits

A. 54

B. 40

C.10

D. 28

Answer: c

o Watch Video Solution

7. A number is added to two-third of itself, 1 is subtracted from

the sum and the result is divided by 12. If the final result is 12,

then find the numbers

A. 20

B. 87


https://dl.doubtnut.com/l/_c7qYxJnBJlKe
https://dl.doubtnut.com/l/_PYNpEO01bWdF

C.84

D.74

Answer: b

° Watch Video Solution

8.The present age of A is 4 years less than twice the present age

of B. B's present age is 6 years more than twice his age 15 years

ago. Find the difference of their ages

A. 30 years

B.32 years

C. 20 years

D. 22 years


https://dl.doubtnut.com/l/_PYNpEO01bWdF
https://dl.doubtnut.com/l/_gfdymfYcq3lT

Answer: c

° Watch Video Solution

9. A mother said that, her age is one year less than thrice her

dauther's age. The daughter is 9 years less than the difference

between their present ages. Find the sum of their ages (in years)

A.45

B.47

C.39

D. 35

Answer: c

O Watch Video Solution



https://dl.doubtnut.com/l/_gfdymfYcq3lT
https://dl.doubtnut.com/l/_Io2wuRzlbYjn
https://dl.doubtnut.com/l/_44rNoGfHTGhg

10. There are two numbers, the difference between them is equal

to twice the smaller number. The sum of the two number is 68.

Find the product of the two numbers

A. 868

B. 965

C. 814

D. 986

Answer: a

o Watch Video Solution

11. A student painted a circular region of certain area such that

4 /Tth of the area was pink, 1/10th area was green, and 2/7th


https://dl.doubtnut.com/l/_44rNoGfHTGhg
https://dl.doubtnut.com/l/_8V20pvqNiOaH

was yellow. The remaining area of 6m?* was white. Find the area
of the region which is painted pink (in sq. units)

A. 95

B. 140

C. 240

D. 80

Answer: d

° Watch Video Solution

12. In a two-digit number, tens digit is a multiple of the units
digit. The sum of the number and the number formed by
reversing the digits is 132. Which of the folloiwng can be the

product of the two digits ?


https://dl.doubtnut.com/l/_8V20pvqNiOaH
https://dl.doubtnut.com/l/_BMPS9hSNw7wA

A. 16

B. 27

C.35

D.18

Answer: b

° Watch Video Solution

13. There are three house-hold articles. The cost of the first
article is two-fifth the cost of the third article and the cost of the
third article is twice the cost of second article. If the total cost of
the three articles is Rs 228, then find the cost of the first article

(in Rs)

A. 40


https://dl.doubtnut.com/l/_BMPS9hSNw7wA
https://dl.doubtnut.com/l/_yIgrbuWw9YQs

B. 48

C.50

D. 54

Answer: b

o Watch Video Solution

14. In an isoceles triangle, the difference between one of the
equal sides and the unequal side (longest of the three) is 3/10
of the sum of the equal sides. If the perimeter of the triangle is
90 cm, then find the length of unequal side in centimetres

A. 40

B. 80

C.25


https://dl.doubtnut.com/l/_yIgrbuWw9YQs
https://dl.doubtnut.com/l/_AvrEz1gTCtIa

D. 50

Answer: a

° Watch Video Solution

15. Mr Anthony travelled 4 /9 of a cetain distance by bus, 1/3 by
car, and the remaining 6 km by scooter.
Find the distance by bus (in Km)

A 12

B.18

C.9

D. 27

Answer: a

| a WAF_ L _ L vl e~ 0.t



https://dl.doubtnut.com/l/_AvrEz1gTCtIa
https://dl.doubtnut.com/l/_doycJ5kAoK15
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2 — 5 333—1—3?

16. Which of the following is a solution of 3 > 1
Az = —95
B.x = — 2
Cz= —29
D.z = — 30
Answer: d

o Watch Video Solution

17. The unit digit of a two-digit number is 6. If 9 is added to the
number, then the number obtained is 5/4th of the number

itself. Find the sum of the digits


https://dl.doubtnut.com/l/_doycJ5kAoK15
https://dl.doubtnut.com/l/_HmiyKrwzHgP7
https://dl.doubtnut.com/l/_7JgapHLcC0ar

A7

B.8

C.9

D.10

Answer: c

o Watch Video Solution

18. A purse contains a cetain number of coins fo denominations
Re. 1 and 50 paise. The total value of the coins (in Rs) is 14 less
than the total number of coins. Find the number of 50 paise

coins

A 12

B.18


https://dl.doubtnut.com/l/_7JgapHLcC0ar
https://dl.doubtnut.com/l/_d7AJ0jVx9mSq

C.22

D. 28

Answer: d

° Watch Video Solution

19.Rs x is divided among A, B and C. The share of A is two-fifth of

the total money, the share of B is two-third of the remaining

money, and the share of Cis Rs 600. Find the value of x

A.3000

B. 4000

C. 5000

D. 6000


https://dl.doubtnut.com/l/_d7AJ0jVx9mSq
https://dl.doubtnut.com/l/_O86nQRNt28TT

Answer: a

° Watch Video Solution

20. Ten years ago, Mohan's age was 35 years less than twice his

present age. Find Mohan's present age (in years)

A.15

B. 20

C.25

D.10

Answer: ¢

O Watch Video Solution



https://dl.doubtnut.com/l/_O86nQRNt28TT
https://dl.doubtnut.com/l/_PInPLJ7Ttch4

21. Ram, Shyam, and Tarun have a total of Rs 600 with them. The

amount with Ram is equal to half of the total amount with the

others. Find the amount with Ram (in Rs)

A.150

B.300

C.120

D. 200

Answer: d

° Watch Video Solution

22. The difference of the digits of a two-digit number is 8. The

sum of its digits can be


https://dl.doubtnut.com/l/_DRpGDKNXHh4J
https://dl.doubtnut.com/l/_U6qGSk56Hr2o

A.8

B.10

C. Either (a) or (b)

D. Neither (a) or (b)

Answer: c

o Watch Video Solution

23. Ramesh and Suresh have a total of Rs 200. If Ramesh gives Rs

40 to Suresh, then the amounts with both would get

interchanged. Find the amount with Suresh (in Rs)

A.70

B. 60

C.50


https://dl.doubtnut.com/l/_U6qGSk56Hr2o
https://dl.doubtnut.com/l/_BLX7K3ezRcfU

D. 80

Answer: d

° Watch Video Solution

Test Your Concepts Very Shory Answer Ype Questions

1. An open sentence containing the sign is equal to is called an

equation

° Watch Video Solution

3 10
2. The root of the equation % =z +4is___

o Watch Video Solution



https://dl.doubtnut.com/l/_BLX7K3ezRcfU
https://dl.doubtnut.com/l/_KLTHnotj0AZ2
https://dl.doubtnut.com/l/_azFuslUODR1S
https://dl.doubtnut.com/l/_BwszYKCRR5iG

4
3. For the enequation 3%~ 2 <0,z = 2is asolution.

o Watch Video Solution

4. 3p—15>p+25,p=20 is a solution of the given

inequation

° Watch Video Solution

5.1f 68 is divided into two parts such that one part is one-third of

the other, then the smallest part is 17.

o Watch Video Solution



https://dl.doubtnut.com/l/_BwszYKCRR5iG
https://dl.doubtnut.com/l/_fVJTuWc3jt6V
https://dl.doubtnut.com/l/_tdviT91IOnz2

6. If the number of variables present in the equationis ___, then

it is called a simple equation

° Watch Video Solution

7.1fo5m + 18 = 8, thenm=___

° Watch Video Solution

T 4
x = 50, then 9 + g - ——

o Watch Video Solution

9.The root of the equation 0.8z + 9 = 17 is

o Watch Video Solution



https://dl.doubtnut.com/l/_t5FxdaZ0slNN
https://dl.doubtnut.com/l/_UbbDIiA5UMPz
https://dl.doubtnut.com/l/_wruEfu9fwovq
https://dl.doubtnut.com/l/_Y9o4F5ARTGhY

10. In a two-digit number if, p is the ten's digit and q is the units

digit, then the two-digit number is

o Watch Video Solution

11. If one-third of a number x is substracted from two-third of the

number x, then the result is 6. Then x =

° Watch Video Solution

12.1f 0.2y + 10.2 > 11, then y >

o Watch Video Solution



https://dl.doubtnut.com/l/_Y9o4F5ARTGhY
https://dl.doubtnut.com/l/_kJZMDNSerD4Q
https://dl.doubtnut.com/l/_hn8l8tBfuAN2
https://dl.doubtnut.com/l/_IyfY5J9JKjsw

13.If% — 2 =206, thenx =

o Watch Video Solution

) 3z T :
14. The solution of e + 1 <d4dis____

° Watch Video Solution

15.|f% > 95 thenz = 125isa  of — > 25

° Watch Video Solution

16.1f 22 — 3 = 5z — 27, then x =

o Watch Video Solution



https://dl.doubtnut.com/l/_vbhGtCJB7OzX
https://dl.doubtnut.com/l/_CdgrNosswMxr
https://dl.doubtnut.com/l/_jgTH6G5wTkKb
https://dl.doubtnut.com/l/_FpVgFRaPSTbj
https://dl.doubtnut.com/l/_bEYMVMP2pG7z

1
17.Ifx—|—3-§:5, then z = .

o Watch Video Solution

18.If% —9=1, thenx =

° Watch Video Solution

19.|f%+1:3, then z = .

° Watch Video Solution

2z
20. Solve for z: 5 +6=2—-3

A.12


https://dl.doubtnut.com/l/_bEYMVMP2pG7z
https://dl.doubtnut.com/l/_sVRJXJW91J8m
https://dl.doubtnut.com/l/_sbwNsJCvQZ05
https://dl.doubtnut.com/l/_0Gg5IcLSZ6Mu

Cn

D.10

Answer: A

o Watch Video Solution

21.Solve for m: 3(4m + 5) — 4(3 — 2m) = 13

A1/2
B. 2
C.1/4

D.T

Answer: A

f



https://dl.doubtnut.com/l/_0Gg5IcLSZ6Mu
https://dl.doubtnut.com/l/_hXmnykIrNH5y

| ° Watch Video Solution

22.Solveforz:3xz +5 > 7

Az >3/2
B.z >2/3
Cex<3/2

D.z < 2/3

Answer: B

° Watch Video Solution

4y
23. Solve for y: 3 5 <10

Ay < 27/4


https://dl.doubtnut.com/l/_hXmnykIrNH5y
https://dl.doubtnut.com/l/_WG7tFfScc0Yw
https://dl.doubtnut.com/l/_YTuqIArUEQKR

B.v < 33/4
C.y<45/4

D.y < 59/4

Answer: C

o Watch Video Solution

24. Solve for z: g —7>2z—-19

Answer: C

f


https://dl.doubtnut.com/l/_YTuqIArUEQKR
https://dl.doubtnut.com/l/_OJMeObJseNZV

| ° Watch Video Solution

25.5olveforz:2x +3 =9

A4

B.3

C.2

D.1

Answer: B

° Watch Video Solution

26. Solve for:'y% —7= -4

A.15


https://dl.doubtnut.com/l/_OJMeObJseNZV
https://dl.doubtnut.com/l/_ElhsDuiN6Hwn
https://dl.doubtnut.com/l/_d5j8AdrYpTNw

B.12

C.6

D.9

Answer: D

o Watch Video Solution

27.Solveforz:122x — 7 =Tz — 13

A —1.2
B.—1.6
C.—1.8
D.—14

Answer: A

f


https://dl.doubtnut.com/l/_d5j8AdrYpTNw
https://dl.doubtnut.com/l/_W7G840HCmbf0

| ° Watch Video Solution

28.Solve form:1.2m + 2.6 = 5

A4

B.3

C.2

D.1

Answer: C

o Watch Video Solution

29. Divide Rs 98 inot two parts such that one part is 6

° Watch Video Solution



https://dl.doubtnut.com/l/_W7G840HCmbf0
https://dl.doubtnut.com/l/_ttJK1FrmWxwK
https://dl.doubtnut.com/l/_ATodLOhKvSuj

30. One-third of a number is equal to 24, then find the value of

1
15 times of the number

° Watch Video Solution

31. The sum of three consectuve integers is 24. Find the smallest

number

° Watch Video Solution

32.Solve, = + % + 2 _n

r
3 9

o Watch Video Solution

33.Solve 0. 5y 4+ 0. 75y = 125



https://dl.doubtnut.com/l/_adnLqxitMhrL
https://dl.doubtnut.com/l/_xJaNy2y2HtZc
https://dl.doubtnut.com/l/_emtNq7z3K93c
https://dl.doubtnut.com/l/_ihntEaQ5n4ma

o Watch Video Solution

34.Solve: 2.5t + 7.3t = 21.6 — ¢t

o Watch Video Solution

35. Equal parts of a flag pole are painted with saffron, white, and
green colours. If one-third of the portion painted green is 2 m

long, then find the length of the pole

° Watch Video Solution

36. A person covered 5 /8 of his journey and he has to walk 240
m more to complete his journey. Find the total distance of the

journey



https://dl.doubtnut.com/l/_ihntEaQ5n4ma
https://dl.doubtnut.com/l/_JWrMqEOHkgkV
https://dl.doubtnut.com/l/_Ka9kZxdkJu5F
https://dl.doubtnut.com/l/_ZJp0zlaukZAH
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37. A boy has given 7 /12 of his marbles to his friend and is left
with only 20 marbles. Find how many marbles he had with him

initially

° Watch Video Solution

38. A number is multiplied by 5 and 25 is subtracted from the
product. The result is equal to four times the number itself. Find

the number

° Watch Video Solution

39. One-fouth of a certain number exceeds its one-seventh by 3.

find the number



https://dl.doubtnut.com/l/_ZJp0zlaukZAH
https://dl.doubtnut.com/l/_ODscrcqdHk7x
https://dl.doubtnut.com/l/_LiuC2aMKJqiW
https://dl.doubtnut.com/l/_kjGhwx4OGoLx

| o Watch Video Solution

5w—2+4w—l—3 B 3z + 19
3 2 2

40. Solve :

o Watch Video Solution

41.Solve: 0.3(3y — 4.5) +2.9(5.5 — 5y) =1

° Watch Video Solution

1
42.Solve : 9m + 4 — 27m + 1 ——= =0
5 8 2

o Watch Video Solution

43.Solve:2m +5 > 9 —4m,m € Q



https://dl.doubtnut.com/l/_kjGhwx4OGoLx
https://dl.doubtnut.com/l/_naivKVmUUWed
https://dl.doubtnut.com/l/_ASHFlx76MRJo
https://dl.doubtnut.com/l/_DhzGcYqe3Iim
https://dl.doubtnut.com/l/_qwBH1hg5S0za

o Watch Video Solution

° Watch Video Solution

+ 2 +3
45.So|ve73 + 72 =v+1

o Watch Video Solution

3n + 8 B
Tn —4

46. Solve: 1

° Watch Video Solution

47.Solve: 2(3k + 7) + 3(2k — 5) = 23



https://dl.doubtnut.com/l/_qwBH1hg5S0za
https://dl.doubtnut.com/l/_Tpcu1AcNck4b
https://dl.doubtnut.com/l/_lcrh4GE4B6w1
https://dl.doubtnut.com/l/_8SgLtIpDYde6
https://dl.doubtnut.com/l/_1b9EMI2ROUix

| ° Watch Video Solution

48. One-fifth of a number is 5 more than one-tenth of the

number. Find the number

o Watch Video Solution

49, If twice a number is added to half the number, then the result

is 250. Find one-tenth of the number.

o Watch Video Solution

50. Solve for z, 8x + 4 < 20 in the set of natural numbers

° Watch Video Solution



https://dl.doubtnut.com/l/_1b9EMI2ROUix
https://dl.doubtnut.com/l/_ViuadXGGdfsn
https://dl.doubtnut.com/l/_3uqxoLMn4jDy
https://dl.doubtnut.com/l/_DDAvrsK1Wm4j
https://dl.doubtnut.com/l/_uFTmRoI0eMLh

51. Five years ago, the age of a person was half of his present

age. How old is he now ?

° Watch Video Solution

52. The present age of A is twice that of B. The sum of their

present ages is 33 years. Find the present age of A (in years)

o Watch Video Solution

53.In a two-digit number, the units digit is twice the ten's digit
and the difference between the number and the humber formed

by reversing the digits is 18. Find the original number

O Watch Video Solution



https://dl.doubtnut.com/l/_uFTmRoI0eMLh
https://dl.doubtnut.com/l/_hLxfGm4c5XrG
https://dl.doubtnut.com/l/_kxCcYLXgSRJx

54. Thirty years ago, the age of a man was three-fifth of his

present age. Find the present age (in years)

o Watch Video Solution

55.The present age of Shobha is equal to one-fifth of her mother
Sudha's age. Twenty -five years later, the age of Shobha will be 4
years less than half the age of her mother Sudha. Find their

present ages.

° Watch Video Solution

56. In a two-digit number, the ten digit is one more than twice
the units digit. The sum of the digits is 36 less than the number

formed by reversing the digits. Find the product of the digits

. Y


https://dl.doubtnut.com/l/_ylPJntBIOdD3
https://dl.doubtnut.com/l/_A1zTf3iXBI0h
https://dl.doubtnut.com/l/_kXlOu5Fppmzf

| ¥ Vvatch video ooilution ]

57. A man's age 15 years hence would be two times his age six

years ago. Find his present age

° Watch Video Solution

58.In a two-digit number, the sum of the digit is 5 more than the
units digit. The difference between the original number and the
sum of digits is 10 more than the number formed by reversing

the digits. Then find the difference between the digits.

° Watch Video Solution

t

4 5 3
59.So|ve.?—§< Z+§’t€Q

o Watch Video Solution



https://dl.doubtnut.com/l/_kXlOu5Fppmzf
https://dl.doubtnut.com/l/_GvkoYDYptvxR
https://dl.doubtnut.com/l/_JBajzhl13uDK
https://dl.doubtnut.com/l/_ftIX8Pj2RP0L

b
60.Solve 4b — 3 < Bl + 7

° Watch Video Solution

6lsolve: 2 3 2 8 evcZ
-Solve : — 5 <3 1 Wherey

° Watch Video Solution

62.Solve 6z — 7 > 5z — 6

° Watch Video Solution

63. In a two-digit number, the sum of the digits is 9. If 9 is

subtracted from the number, then the digits get reversed. Find


https://dl.doubtnut.com/l/_ftIX8Pj2RP0L
https://dl.doubtnut.com/l/_hnbgwCvk5mya
https://dl.doubtnut.com/l/_09vRRxExTsTK
https://dl.doubtnut.com/l/_AAiGCRYiG8bI
https://dl.doubtnut.com/l/_BDMhSPrJIyWC

the product of the digits

° Watch Video Solution

64. A purse contains a certain number of coins of denominations
Rs 1 and 25 paise. The total value of the coins (in Rs) is 6 less
than the total number of coins. Find the number of 25 paise

coins

o Watch Video Solution

65. Rs x is divided among Mr Bilhari, Mr Narahari, and Mr
Murahari. The share of Bilhari is one-fourth of the total money,
the share of Murahari is one-third of the remaining money and

the share of Narahari is Rs 1200. Find x

° Watch Video Solution



https://dl.doubtnut.com/l/_BDMhSPrJIyWC
https://dl.doubtnut.com/l/_5RWHUGt0fmU1
https://dl.doubtnut.com/l/_kQuU6yRB4PHA

Concept Application Level |

3
1. The root of the equation 7P + 8 =1Tis

A5
B.12

C.20

Answer: B

o Watch Video Solution

2. Find the solution of the equation 3z — 4 = 57


https://dl.doubtnut.com/l/_kQuU6yRB4PHA
https://dl.doubtnut.com/l/_JhWNMHYKQY80
https://dl.doubtnut.com/l/_Tl1BxfZ2K9pv

B.x =4
Cx =2
D.x =3
Answer: D

o Watch Video Solution

p P _
3.If4+ 5 = 6, thenp

o Watch Video Solution

4.Ifa = 3, then 9a + 1.5 =

° Watch Video Solution



https://dl.doubtnut.com/l/_Tl1BxfZ2K9pv
https://dl.doubtnut.com/l/_QITBHRmF9LOc
https://dl.doubtnut.com/l/_e4LpA0bTqxiN

0.2
5. If7 + 0.1 > 2.1, thenz <

Al
B.0.1
C.2

D.0.2

Answer: B

° Watch Video Solution

6.F L L o5 thenw —
. 12+2—a:—, enxr = ____

A2
B.4

C.8


https://dl.doubtnut.com/l/_Xe29O6gaQi99
https://dl.doubtnut.com/l/_IJzRyhsAhw8H

D.6

Answer: D

o Watch Video Solution

7.1f1.7y+2.3y=2,theny=__.

Al/4
B.1/2
C.8

D.6

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_IJzRyhsAhw8H
https://dl.doubtnut.com/l/_b4KJMhwSqLPt
https://dl.doubtnut.com/l/_TMwDGzPADa6Y

8.1f5( % + 1) — 50— 10, thena —
. g‘i‘? = oA — 3 ena —=

A.3
B.1/3
C.6

D.1/6

Answer: A

o Watch Video Solution

1 3 11
9.f — + — = —, thez = .
T T 3
A.11/3
B.2/3

c.12/11


https://dl.doubtnut.com/l/_TMwDGzPADa6Y
https://dl.doubtnut.com/l/_gdq4VHTfvNzT

D.3/11

Answer: C

° Watch Video Solution

10.1f 9.1z + 3z + 1.92 < 42,the x <

Al
B.3
C.5

D.4

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_gdq4VHTfvNzT
https://dl.doubtnut.com/l/_zWYXHUvJatfH
https://dl.doubtnut.com/l/_LzjaTdmOHdXd

M.If 5z + 1.5(0.5z 4+ 10) > 590, then z >

A.15
B. 100
C.150

D. 200

Answer: B

o Watch Video Solution

12.1f 8.3z — 9.8 = = + 26.7,then x =

A2

B.3

C.4


https://dl.doubtnut.com/l/_LzjaTdmOHdXd
https://dl.doubtnut.com/l/_Ne7oBb4JPVCU

D.5

Answer: D

o Watch Video Solution

13.If3(a — 2) —2(a+9) = 1,thena=

A. 20
B. 22
C.25

D. 27

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_Ne7oBb4JPVCU
https://dl.doubtnut.com/l/_VPXSqXVt8ZAw
https://dl.doubtnut.com/l/_4MTuZaLYq94t

14.If2(w—5):%—|—5, thenx=__ :

A.8
B.9

C.10

Answer: C

o Watch Video Solution

15.Find the value of p: 3p — 4 = — 16
A —3
B.—4


https://dl.doubtnut.com/l/_4MTuZaLYq94t
https://dl.doubtnut.com/l/_AD41lb9JDG1R

D.4

Answer: B

° Watch Video Solution

16. Solve for a, % 129 = 36

A.30
B.42
C.90

D.120

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_AD41lb9JDG1R
https://dl.doubtnut.com/l/_6E9cYl75Na0O
https://dl.doubtnut.com/l/_AWRCzba1bYUi

17.Solve forp — 5p — 6 = 8p — 4

A—1/3

B.—1/6

c.1/3

D.2/3

Answer: B

o Watch Video Solution

18.Solve for k: 1.5k — 3.7 = 0.8

A7

B.6

C.5


https://dl.doubtnut.com/l/_AWRCzba1bYUi
https://dl.doubtnut.com/l/_Jp35toQ4ViKX

D.3

Answer: D

° Watch Video Solution

393+4_a:+5 oz +zc—|-1
14 28 14

19.Solve :
The following steps are involved in solving the above problem.

Arrange them in sequential order

3x + 2
(A) bx + 3 = 5 = 10z + 6 = 3z + 2
B) = Tx= —4

3c+4 z+5 z  x+1

(C) Given 11 —2—8+ 11
6r +8—x — 5 T+ 2x + 2
= —
14 28
(D) =z = :
T Ty
A. ABCD

B. CADB


https://dl.doubtnut.com/l/_Jp35toQ4ViKX
https://dl.doubtnut.com/l/_aelWDVPkN3Hc

C.CABD

D. BCAD

Answer: C

o Watch Video Solution

20. Two-third of a certain number exceeds one-third of the
number by 10. Find the number. The following steps are involved

in solving the above problem. Arange them in sequential order

A 2E _ T _ 10 (given)

3 5 = 10 (given

® "% 19 % _qg
3 - 3

(C) =z =30

(D) Let the number be x

A. DACB

B. BDAC


https://dl.doubtnut.com/l/_aelWDVPkN3Hc
https://dl.doubtnut.com/l/_zqfTVixtogww

C. ADBC

D. DABC

Answer: D

o Watch Video Solution

7 3 9 — 5 16z — 3
r + n _

21.Solve : 7 3 16

The following steps are involved in solving the above problem.
Arrange them in sequential order

-5 -1

(B)
T + 3 9m—5_16m—3j14:(:—|—6—|—9x—5_16:1:—3

i T3 16 8 16
ol _M6z-3 . 16z 3

8 16 TTET T
(D)46z +2 =16z — 3 = 30z = — 5

A. BCDA


https://dl.doubtnut.com/l/_zqfTVixtogww
https://dl.doubtnut.com/l/_FgufHpXejmO2

B. CBDA

C.BCAD

D. BDCA

Answer: A

o Watch Video Solution

22. One-third of a certain number exceeds %th fo the number by
20. Find the number.

The following steps are involved in solving the above problem.
Arrange them in sequential order

(A) Let the number x

2 T
(B)?:2O:>—:10:>:1::90

9
(C) Given % _ % — 20
3r — x
(D) — 20

9


https://dl.doubtnut.com/l/_FgufHpXejmO2
https://dl.doubtnut.com/l/_KxvmmZBpZChD

A. ABCD

B. ACDB

C. DACB

D. CADB

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_KxvmmZBpZChD

Column A

IF§I+20=71_thmx=

. The mot of the equation
§1+9=lt-3':s_.

Thtmlutinnsﬂnt'l+-:: <
6
2

If 69 15 divided mto two
parts such that one part is
twice the other, then the

greater part 1s ___

23.

(a) y< —

(b) 9

36
1 y> —
(€) y 5

(d) 10

(e] 46
() 23

° Watch Video Solution



https://dl.doubtnut.com/l/_j6S5AfG66kDD

Column A Column B

27. lf%]'+lu=—5,thcn}'=__ @ x>3
28. The root of the equation %x +2=14+3xs . (b) 64
29. The solunon set —2- +4>50fis ___. fe) -2
2
30, 1f 96 1s divided into two parts such that one part is d) 2
twice the other, then the greater partis .
(e) 24
24. ) x<5
° Watch Video Solution
Concept Application Level li
9z —5 6 — 3z
1. If + =3, thenx = .
7 g T
A2/3
B.3/4
C.5/4

D.4/3


https://dl.doubtnut.com/l/_pp91PqDnhMu9
https://dl.doubtnut.com/l/_VSbl56KOzbWo

Answer: D

0 Watch Video Solution

2.1f 2y + 7+ 3(5 — 2y) = 12, theny =

A1/6
B. 11
C.5/2

D.7

Answer: C

° Watch Video Solution

3.If

5 4(z — 11
z—; n (zg )+3:0,thenz= ______


https://dl.doubtnut.com/l/_VSbl56KOzbWo
https://dl.doubtnut.com/l/_iHMwb4ZTYYdy
https://dl.doubtnut.com/l/_ursKhT5A7CeU

Al

B.2

D.5

Answer: B

o Watch Video Solution

0.3(3x —4) 0.4z + 3.6

4.If + = 3.5z thenx=___

5 5

A 0.1

B.0.3

C.0.5

D.0.2


https://dl.doubtnut.com/l/_ursKhT5A7CeU
https://dl.doubtnut.com/l/_Al8HvtBnarml

Answer:

O Watch Video Solution

5.1f

2¢ + 3 <2m—3
_|_

6 3 ) = 3, then the valueof xis

A.7/2
B.3

C.1

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_Al8HvtBnarml
https://dl.doubtnut.com/l/_z677m1NwsURy

6. Two-third of a number exceeds one-third of the number by 10.
Find the number

A.10

B. 20

C.30

D. 40

Answer: C

° Watch Video Solution

7. A number is doubled and half of the number is added to it. If
10 is substracted from the result, then we get a number which is

one less than the original number. Find the original number


https://dl.doubtnut.com/l/_isFdtVIYYUh2
https://dl.doubtnut.com/l/_r1BTQb9Q6dhS

A5

B.6

C.7

D.8

Answer: B

o Watch Video Solution

8. If a number is multiplied by 5 and 5 is added to it, then the

result is equal to 50. Find the number

A.8

B.7

C.6

D.9


https://dl.doubtnut.com/l/_r1BTQb9Q6dhS
https://dl.doubtnut.com/l/_3aknECXbEO33

Answer: A

° Watch Video Solution

9. If seven times a number is added to one-fifth of itself, then five-

sixth of the sum is equal to 30. Find the number

A5

B.6

C.15

D. 40

Answer: A

O Watch Video Solution



https://dl.doubtnut.com/l/_3aknECXbEO33
https://dl.doubtnut.com/l/_pRfKfe0VDprm

10. If one-fouth, half, and one-third of a number are added to the

number itself, then the result is equal to 25. Find the number

A.10

C.12

D.14

Answer: C

° Watch Video Solution

11. Solve for y: % + LA 12

7
A.70

B. 140


https://dl.doubtnut.com/l/_hmeOGuu2ESsi
https://dl.doubtnut.com/l/_o4KNs2K7aVns

C.35

D. 105

Answer: C

o Watch Video Solution

5t — 3 B 1
2r +3

12. Solve for x:

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_o4KNs2K7aVns
https://dl.doubtnut.com/l/_1s8KdjDGqrVi

13.Solve for: v:3(y —4) — 5(y +5) = — 21

A —4
B.—7
C.—3
D.—8
Answer: D

o Watch Video Solution

14. Two-third of a number is 32 less than three-fiftth of the

number. Find the number

A. 360


https://dl.doubtnut.com/l/_1s8KdjDGqrVi
https://dl.doubtnut.com/l/_WHZLRK13eOre
https://dl.doubtnut.com/l/_FuFkJAtJywqb

B. —480

C. —260

D. 480

Answer: B

o Watch Video Solution

15. If one third ofa number is subtracted from three times the

number, then the result is 800, find the number.

A.300

B. 400

C. 200

D. 600


https://dl.doubtnut.com/l/_FuFkJAtJywqb
https://dl.doubtnut.com/l/_mnK1wMQ6C7Ra

Answer: A

O Watch Video Solution

16.Solve: Ty — 3 < 2y + 14,y € W.

A0, 1,2

B.1,2,3

c.0,1,2,3

D.1,2,3,4

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_mnK1wMQ6C7Ra
https://dl.doubtnut.com/l/_RiKj4Yz922r9

17.1n a two-digit number, the tens digit is twice the units digit. If

the sum of its digits is 9. Find the number

A.63

B. 82

C.72

D. 36

Answer: A

° Watch Video Solution

18. The present age of a man is seven times the present age of
his son. Two years ago, the age of the man was elevent times the

age of the son. Find the present age of the man (in years)


https://dl.doubtnut.com/l/_QcKy9CrVegQl
https://dl.doubtnut.com/l/_WEkAomINh0tw

A.35

B. 26

C. 47

D. 45

Answer: A

o Watch Video Solution

19. Th present age of A is thrice that of B. Five years from now, A's
age will be 8 years more than twice B's age. Find the present age
of B (in years)

A.10

B.13

C.12


https://dl.doubtnut.com/l/_WEkAomINh0tw
https://dl.doubtnut.com/l/_vVLT2FhmXmHz

Answer: B

O Watch Video Solution

20. The sum of the present ages of Ram and Shyam is 75 years.
Ten years ago, Ram's age was 4 times the age of Shyam. Find the
difference between their present ages (in years)

A. 22

B. 23

C.33

D.30

Answer: C

| a WAF_ L _ L vl e~ 0.



https://dl.doubtnut.com/l/_vVLT2FhmXmHz
https://dl.doubtnut.com/l/_IH05Ubu6yCzT
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21. A road divider of certain length is painted one-sixth yellow,

three-fifth black, and the remaining 28m is painted white. Find

the length of the divider

A. 100 m

B.120 m

C.150 m

D.92m

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_IH05Ubu6yCzT
https://dl.doubtnut.com/l/_DBWfVDyAqXLW

22. Mr Sumanth spends two-fifth of his salary on house rent and
one-fouth on food. After spending Rs 2000 on miscellaneous, if
he could save an amount of Rs 5000, then find his monthly
income (in Rs)

A. 20000

B. 25000

C. 15000

D. 16000

Answer: A

o Watch Video Solution

23.In a two-digit number, the units digit is 3 more than the ten's

digit. The sum of the digits is 18 less than the original number.


https://dl.doubtnut.com/l/_UBaK1lSjxZyU
https://dl.doubtnut.com/l/_d7WI7rR7cDst

Find the product of the digits

A. 54

B. 40

C.10

D. 28

Answer: C

o Watch Video Solution

24. A number is added to two-third of itself, 1 is subtracted from

the sum and the result is divided by 12. If the final result is 12,

then find the numbers

A. 20

B. 87


https://dl.doubtnut.com/l/_d7WI7rR7cDst
https://dl.doubtnut.com/l/_E4BBks6Bgh0f

C.84

D.74

Answer: B

° Watch Video Solution

25. The present age of A is 4 years less than twice the present

age of B. B's present age is 6 years more than twice his age 15

years ago. Find the difference of their ages

A. 30 years

B.32 years

C. 20 years

D. 22 years


https://dl.doubtnut.com/l/_E4BBks6Bgh0f
https://dl.doubtnut.com/l/_57MF1X2RqipK

Answer: C

° Watch Video Solution

26. A mother said that, her age is one year less than thrice her

dauther's age. The daughter is 9 years less than the difference

between their present ages. Find the sum of their ages (in years)

A.45

B.47

C.39

D. 35

Answer: C

O Watch Video Solution



https://dl.doubtnut.com/l/_57MF1X2RqipK
https://dl.doubtnut.com/l/_1bhByqT3EFTn
https://dl.doubtnut.com/l/_jSIa2wyecJhc

27.There are two numbers, the difference between them is equal

to twice the smaller number. The sum of the two number is 68.

Find the product of the two numbers

A. 867

B. 965

C. 814

D. 986

Answer: A

o Watch Video Solution

28. A student painted a circular region of certain area such that

4 /Tth of the area was pink, 1 /10th area was green, and 2/7th


https://dl.doubtnut.com/l/_jSIa2wyecJhc
https://dl.doubtnut.com/l/_uu9M7KFTGlxn

was yellow. The remaining area of 6m?* was white. Find the area
of the region which is painted pink (in sq. units)

A. 95

B. 140

C. 240

D. 80

Answer: D

° Watch Video Solution

29. In a two-digit number, tens digit is a multiple of the units
digit. The sum of the number and the number formed by
reversing the digits is 132. Which of the folloiwng can be the

product of the two digits ?


https://dl.doubtnut.com/l/_uu9M7KFTGlxn
https://dl.doubtnut.com/l/_UZE2mY3gafaX

A. 27

B.35

C.18

D.16

Answer: B

° Watch Video Solution

30. There are three house-hold articles. The cost of the first
article is two-fifth the cost of the third article and the cost of the
third article is twice the cost of second article. If the total cost of
the three articles is Rs 228, then find the cost of the first article

(in Rs)

A. 40


https://dl.doubtnut.com/l/_UZE2mY3gafaX
https://dl.doubtnut.com/l/_aDdgHL5uxctH

B. 48

C.50

D. 54

Answer: B

o Watch Video Solution

31. In an isoceles triangle, the difference between one of the
equal sides and the unequal side (longest of the three) is 3/10
of the sum of the equal sides. If the perimeter of the triangle is
90 cm, then find the length of unequal side in centimetres

A. 40

B. 25

C.50


https://dl.doubtnut.com/l/_aDdgHL5uxctH
https://dl.doubtnut.com/l/_vEQXS6uguKZc

D. 80

Answer: A

° Watch Video Solution

32. Mr Anthony travelled 4 /9 of a cetain distance by bus, 1/3 by
car, and the remaining 6 km by scooter.
Find the distance by bus (in Km)

A 12

B.18

C.9

D. 27

Answer: A

| a WAF_ L _ L vl e~ 0.



https://dl.doubtnut.com/l/_vEQXS6uguKZc
https://dl.doubtnut.com/l/_2bbIWTuGsDHj
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2 — 5 333—1—3?

33. Which of the following is a solution of 3 > 1
Ax= —5
B.x = — 2
Cx= —29
D.z = — 30
Answer: D

o Watch Video Solution

34.The unit digit of a two-digit number is 6. If 9 is added to the
number, then the number obtained is 5/4th of the number

itself. Find the sum of the digits


https://dl.doubtnut.com/l/_2bbIWTuGsDHj
https://dl.doubtnut.com/l/_p3Ev8qihS21y
https://dl.doubtnut.com/l/_9FYPRPJvP7ZQ

A7

B.8

C.9

D.10

Answer: C

o Watch Video Solution

35. A purse contains a cetain number of coins fo denominations
Re. 1 and 50 paise. The total value of the coins (in Rs) is 14 less
than the total number of coins. Find the number of 50 paise

coins

A 12

B.18


https://dl.doubtnut.com/l/_9FYPRPJvP7ZQ
https://dl.doubtnut.com/l/_aET6K1xFnk6a

C.22

D. 28

Answer: D

° Watch Video Solution

36.Rs x is divided among A, B and C. The share of A is two-fifth of

the total money, the share of B is two-third of the remaining

money, and the share of Cis Rs 600. Find the value of x

A.3000

B. 4000

C. 5000

D. 6000


https://dl.doubtnut.com/l/_aET6K1xFnk6a
https://dl.doubtnut.com/l/_mgjoJYCJ8QgF

Answer: A

° Watch Video Solution

37. Ten years ago, Mohan's age was 35 years less than twice his

present age. Find Mohan's present age (in years)

A.15

B. 20

C.25

D.10

Answer: C

O Watch Video Solution



https://dl.doubtnut.com/l/_mgjoJYCJ8QgF
https://dl.doubtnut.com/l/_7lblglxH5lQ1

38.Ram, Shyam, and Tarun have a total of Rs 600 with them. The

amount with Ram is equal to half of the total amount with the

others. Find the amount with Ram (in Rs)

A.150

B. 120

C. 200

Answer: D

° Watch Video Solution

39. The difference of the digits of a two-digit number is 8. The

sum of its digits can be


https://dl.doubtnut.com/l/_0yXDe3QMAmoI
https://dl.doubtnut.com/l/_1IYcoKahfO1d

A.8

B.10

C. (c) Either (a) or (b)

D. Neither (a) or (b)

Answer: C

o Watch Video Solution

40.Ramesh and Suresh have a total of Rs 200. If Ramesh gives Rs

40 to Suresh, then the amounts with both would get

interchanged. Find the amount with Suresh (in Rs)

A.70

B. 60

C.50


https://dl.doubtnut.com/l/_1IYcoKahfO1d
https://dl.doubtnut.com/l/_VnxjLVp5cIzF

D. 80

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_VnxjLVp5cIzF

